1. yq @1 fr=farfaa o A PITHT HATAVSRR, faeg
MG B ATHISR sfera &=t _"Tfmfﬁtl'ﬂ qﬁ

%
uded in the World Network of Bioreserves?

F

(a) 7=TR @ °1ET (b) Arafmrdr

the following Bioreserves of India s

~ (a) Gulf of Mannar (b) Nilgiri

- -ﬁic) Nandadevi (d) Manas (c) == adl (d) 777 .
12 Which of the Indian workers received ‘'WHO Global 2. fae At AT BT SYTAN, WA dor
Health Leaders Award 2022'? dred arard 2022° WIS B 82 4
(a) NDRF Workers (b) Covid-19 Health (a) TAE ARG, B4 (b) aﬂﬁ@wm 11
Workers FAt G
(¢) ASHA Workers _ (d) POLIO Workers (©) amen FH ) mﬂ

: méqmﬁzﬂ%iﬁtmﬁawwm

. To whom Lord Mountbatten called ‘One-Man
Boundary Force’?

(a) Vallabh Bhai Patel ,
(b) Jawaharlal Nehru
(¢) Mahatma Gandhi
(d) Dr. B.R. Ambedkar

List—1
(Characteristics)




S

Which of the following (Biosphere Res

erves~st,
is not correctly Matched? i

(a) Kanchenjunga — Sikkim
(b) Cold Desert — Himachal Pradesh
(¢) Dehang Debang - Uttarakhang
(d) Seshachalam - Andhra Pradesh
7. For the Medical Termination of p
adult women, whose consent js

() The woman, her Parents an
unborn

re8nancy (Mp) of
mandatory?

d the father of the

(b) The woman and her In-Laws
(c) Only the woman concerned

(d) The woman and the father of the unborn

8. Modern TV screen is made of -
() Thin Film Transistor

(b) Liquid Crystal _
(¢) Cathode Ray Tube
(d) Light Emitting Diode
9. Which of the following Sultans of Delhi imposed

Jizya tax’ on Brahmins for the first time?
(@) Aram Shah

(b) Firoz Shah Tughlaq
(¢) Ghiyasuddin Tughlag
(d) Alauddin Khalji
Which international organization has launched
“Covid-19 Vaccine Market Dash Board"?
(a) World Bank (b) F.A.O.
(€) U.N.LCE.F. (d) I.M.F.

i he
With reference to the Delhi Sultanate which of t
i ?
following statement(s) is/are correct i
i saint,
(1) Qutub minar was dedicated to the Sufi sa
Qutb-ud-din Bakhtiyar Kaki.

, lightenin
AT ¢ was damaged by .
(2) The towe: s code given

g in 1369.

Select the correct answer Using t
below - '

(@) only 1 :
(€) Both1&2

(b) Only 2
(d) Neither 1 nor 2

B3B1T3at0r -

10.

1.
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A
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m”\ . . A
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after curve

(© Gritfien (d) Lorent curve (©) frfwer (@) W
Quve
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Sarovar’ completed at National level? el L
@ Rampur, VP, (b) Amravati, Andhra
\ Pradesh (@) e, W, (0) T, o « ,ﬁ.
ub.
}q Amravati, (d) Varanasl, (©) . (@ T
Maharashtra e, s
4. What are the objectives of Pre-Conceptionand Pre-
Natal Diagnostic Techniques Act, 19947

(8) To prevent female foeticide
(®) To control the declining sex ratio in India
/(€) Both () & (b)

-----



' o

17. The prope . ;- ' Ay
Proper relatjoy, between uplink frétiencyany R— A o HI Hol ST W& RET
. gl

low-link fre i , , eai @1 Mg B Ty
€quency i satellite COmmunication js apr @l ITJ}"ﬁSf g NG Ry
(a) Aiwayg eqUa!

N
gldl e ;
®) Always lowe, (@) @ T B
3Y be greater or lower ' gHal &
(d) Alw el 5 # il %
dys greater
18 @ wita a8 A0 E
* Which of the following seéntence(s) is/are correct? 18. fmferflad et 3 & W"E?T %/3?
((i)) ::tural gas cchurs in Gondwana beds. 1 W g ST GERY 3§ uTg et 4|
o D:a occurs Ln abundance in Kodarma. (2) AT FISTAT A TR A3 H gy VAT 3
arwar rocks are fa f :
J mous for petroleym. (3) SRS T2 ISy & fero g &
elect the correct answer from the code given ‘
Bdiow mquﬁﬁﬁﬁﬁ?ﬂﬁq-
(@) only1&3 (b) Only2&3 (a) Baer13R3 (b) B 23k 3
(¢) only2 (d) only1&2 (c) Paa2 (d) Bac 13R2
19, Who was the author of ‘Tabagat-i-Akbari’? 19. FIHT-—T—srpet B Aaw B 24?
(@) Abul Fazl (b) Badauni (@) g Bore (b) TETAT
() Bhimsen Kayasth (d) Nizamuddin

©) #9 Ry (q) B

@ Who among the following is currently Vice — 20.
' President of International Court of Justice?

(@) Ronny Abraham (b) Dalveer Bhandari o
@) 9 srmew (b) Terdix el
(c) Kirill Gevorgian (d) Joan E. Donoghue

21. On which of the following hills-range is 20

‘Doddabetta’ peak situated?

TR Rery 2
la Hills (b) Nilgiri Hills @) -
(a) Nallamala Hi = ¢ g o I
i ) Anaimalai Hills | |
(c) Cardamom Hills  (d ) W‘m a— o -'-'IIerf?[ﬁ" qﬂ%‘ﬂ .| |
; ing (Mines — State) is not . ﬁr“fﬁiﬁ?r _ JFTHATS TBITEY
2.) Which of the following ( T .
\2 ) Whic iy q?*r;_T__.\qT i &
- correctly matched? (__ T » CCHE
a
a) Sandur —Karnataka ) R
/( ntewada — Madhya Pradesh (b) Eﬁ% i
(b) Da e G e
(©) Noamundi_-’mafk a %

hattisgarh @ My " g
(d) Bailadila—Ch o ~ Bt
— pageSof32 T
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3 .
@ The Meaning of ‘Deh’ in Mughal period was -
/ (a) District (b) Commissioner

(c) Village (d) None of these

@ What is the maximum punishment prescribed for
demanding dowry under Section-4 of the ‘Dowry

Prohibition Act, 1961'?

(@) 3years (b) 1 year Imprisonment

d Imprisonment

(€) 7 years (d) 2 years
Imprisonment Imprisonment

25. Who among the following is liable for maintenance
under the ‘Maintenance & Welfare of Parents and
Senior Citizens Act, 2007'?

(b) Son and Grandson

(a) Son

(¢) Son and Daughter  (d) All of the above

Where is W.H.O. Global Centre for Traditional
Medicine going to be established in India?
(@) Jaipur (b) Delhi

(c) Jamnagar (d) Haridwar

27. Which of the following (Dynasty — Founder) is not
correctly matched?
(a) Saluva - Narsimha Saluva
(b) Tuluva - Krishnadeva Raya
(€) Aravidu - Tirumala

(d) Sangam — Harihar-I

28. Which of the following (Multipurpose Project -
River) is not correctly matched?
(@) Thein - Ravi (b) Salal - Chenab

(¢) Bansagar - Son (d) Ukai-Banas

23. GUELIR H 28 &I ared fraa ar?
(b) Heol (HHTR)
(d) g1 | Prg TE

(a) foremm
() 71g
2. “wdo vy oI, 1961° B GRI-4 P S=TTd

=¥ BT R SfBaH e Tl &) S Wb

14
(a) 399 &I B (b) 1 a4 & B
(¢) 799 ¥ b3 (d) 239 @1 B

2. wra-fiar td aRe F@Re w=or WNer ¢4
ST AW, 2007 B e Fr=foiaa #

| DI R 999 B Iy Iowerl 22
(@) der (b) ¥e1 U9 rar
CRCRCES) (@) Sfa Wi

26. S AN URARE MR Wad P wRg
3 et i R T e 22
(a) SR (d) frceht
(€) SR (d) eREw

27. ffaftad & & P—w1 ([@0 — weme) w9
Hfer T ¥ |
(@) wegar — RET Hegan
(b) qeaT — PwRET 7
(©) srifag — forewran
(d) w4 — eRex—vem

8. Ffafaa % 4 SE—wr (aga%!ﬂaqﬁa’mm
— ) W W T 8
(@ o= — (b) waTe — fRFrg
(©) IR —|F  (d) SHE — I

[23-B]-134101

Page 6 of 32




29. Who can establish Old Age Home a ng to the

Law?

(@) State Government (b) Central Government

(€) Both (a) and (b) (d) None of the above

24,

fafr @ g7 PIE= 1 L B T
qapen 27
(a) 75T XD ©) &% wwr

() 2t ()T (b) (@ STE # 5
T

area ¥ foren A B Pt 3w

30. Which of the following statement(s) is/are correct 30.
Rl T # | BIE-A
regarding appointment of District Judges in India? 9 -
2/e
1) They are appointed by the Governor of the State >
(1) They are appo y (1) S Frafts dad 90 & TEEE E A
only. AT 2
(2) They are appointed by the Governor of the State (2) S RS 50 & AT 1T T B
with consultation of the State High Court. e o \\ 'R 07w
Select the answer using the code given below - o
(a) Only1 (b) Only 2 (@) Baa 1 (b) Fa5 2
(c) Both18& 2 (d) Neither 1 nor 2 (© TH 1 7 2 (d) 5 &1 1 7 2 2
@ Which of the following Articles of the Indian 31. yrdy BIECIEEE] Fr=forad y{=ocl A H
Constitution is related to the power of the D IH—41 USY P FHEE @ U@qﬁq—-m—z
President of granting Pardon? g 22 |
(a) Article 80 (b) Article 78 |
(a) =8 8o DT
() Article 72 (d) Article 81 ) 78
© srgesT 72 (d) 3BT 81
32. Which of the following is not correctly matched? 32. fafaReg q PI—aT Udh Hel ijflf?ﬂﬂ 8l
(a) sadaka — Charity &2
(b) Mugaddam - Village Headman Y P =R
(b) Hehggn —
() Sarkhel — Chief of Infantry RILREa R e
©) WA — e A B
(d) Barid -~ Messenger (@) T80T — w2 3
@ Which is India’s first 14-Lane Expresswa 33
y? C R B gEey
W4T HEmEt  (Taaued)
(@) Yamuna Expressway PH—HT &2
(a LLGI|
(b) Delhi — Meerut Expressway ) TR
(b) feseht —
(€) Mumbai - Pune Expressway S e L
©) T ~ O vy
(d) Agra - Lucknow Expressway (d) 3Ry —
k I
[23‘}3]-134[01 Page 7 of 32 |
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34,

Which of the following states does not share its

3. Preferfaa ¥ A A T AT gl

border with Bhutan? T8t e 14
1 Sikkim 1 fufasa
2 West Bengal N 5 qfdey e
3 Assam ‘le R
4 Meghalaya E_T% A FETTE
Select the correct answer from the code given ;:3 A3 frw T T 3 '\‘Tﬁ P 7 %
below:
(a) 1only (b) 2 only
(c) 4only (d) Both3 &4
Q Who was the founder of ‘Republican Party of C\] 35. ¢
India"? # ;"1_3
(a) Dr.B.R. Ambedkar (b) Subhash Chandra g
Bose ) b
(¢) CharuMajumdar  (d) Dr. Rammanohar
Lohiya
36. Section-23 the Domestic Violence Act provi '__i"'s‘- 36.

(a) Custody orders

(b) Power of grant interim and exparté orders s . -
(b) a@ﬁq 3R Wtieﬁa S 31 T
' L A
(c) Compensation orders (© . _
(d) Protection of action taken in good faith d) A T Pt b«

37. Match the following nuclear. plant . frfoReg Tifaa m P @ ©
location aﬂﬂnmg;ct answer from the code % gafera R stk A R g ae @
given o LN 9 SR Aforg —

(A) PTTHH (1) o
(A) Kalapakkam (1) Gujarat (BFI'\"RT ( )
(B) Narora (2) Maharashtra’ : (2) HERTS
(C) Tarapur (3) U.P. (C) ARTR (3) S5
(D) Kakrapara (4) Tamil Nadu (D) PTPRTITRT _ _(4)m
Code - 0e = :

, ;m:(ﬂ)-zi (B)'Br (C)‘l, (D)-4

_(a) (A)-2, (8)-3,(C)-1, (D)4
(b) (A)-1, (B)-2,(C)-3, (D)4
(¢) (A)-4, (B)-3,(C)-2, (D)-1
(d) (A)-3, (B)-2, (C)-4, (D)-1

(b) (A)-1, (B)-2, (C)-3, (D)-4
(c) (A)'q‘r (B)‘?‘r (c)-zi (D)'l
(d) (A)'sr {B)-Z, (C)"4, (D)_l

,_‘-/‘

(i
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@- The concept of environment is based on which of 38. Eﬂﬁmﬂr aﬂ
the following? fpft Eaall e’
, 1. Environmental Degradation 1 araraceid 3 T
/2. Dimensions of totality of environment 2. grarasol @ g9
3. Shift in the interest 3, ofy & a&ad
4. Globality 4. AfFgHdT
Correct answer is - el IR ? -
(@) Only2 (b) Only 1 o0 (@) 3ad2 (b) Fae 1
() 1and?2 (d) 2,3and 4 I (d) 2,33k
39. Who said that, “The Directive Principles of the State H 39, fyay FEr o fF, MR B Hifa ﬁ?ﬁﬂa; LGl
Policy are the only pious aspirations of the nob {“*" : .
soui:'? Pl ar qugTcH] ot @ ufa= e A 27
(a) K.C. Wheare (b) Ivor Jennings (a) A @R (b) 3z Sy
(c) Lord Acton (d) Granville Austin (c) diE ugeq (d) IR Jifes
@ Electric press, heater, electric kettle etc. are made ;3 40. ﬁ'gﬁ P 3= (Qq:[) BIey, ﬁgﬁ @I G el anfe
i ? ol
of which element? U 5 T (W) I g Bt ¥
(@) German Silver (b) Constanti e “
o " onstantine g_g (a) 5 Ryeay (b) S
ichrome Carbon e
(©) g (d) B
41. In which of the state, world’s first Nano-Urea Plant . gerE e A ERT fieg @ R E T
has been inaugurated by p.M. Narendra Modi? GIF &7 S3HE frg ¥ R £
(@) Haryana (b) Gujarat £\ a
N (b) Torere
(c) Uttar Pradesh (d) Madhya Pradesh <t (€) TR gy
Lqﬁ (d) e gy
2. Which of the following schemes was not launched e 42. ﬁnﬂ%ﬁa 5 v ;ﬁm
: AT 9 2015 %
in 20157 ¥ (”? o g
a .
(a) Atal Pension Yojana L &ST;T ZﬁGFn
. (b)
(b) PM Fasal Bima Yojana " s e oy Ao
(c) PM Suraksha Bima Yojana {’; (©) tew ey drmr Aoty
(d) PM Jeevan Jyoti Bima Yojana ,3 (d) droy Ricet SOy S
€2 a3, g AT
43. What is not true about hologram? i:j P y G e &
' (a)
(@) It requires no screen. oy B 3y '
- ined by laser. (b)u‘g;}m? T 2
(b) It is obtained by ; ] TRy e N
: c)
(c) Itis light source. T D gy s,
. (d LN
(d) It is a 3-D picture. ) TE v 8 :
|
P S Page 9 of 32 \a
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. AIndia, that is Bharat, shall be Union of States”, 44. g grfa ARG I BT Yy |
(Indian Constitution). The word ‘Union’ is derived (e wfaer) | ’{ﬁﬂm TS foy e\
from the Constitution of which country? dfer @ wgor fdhar 2? 3
(a) canada (b) Switzerland (@) FATET (b) ﬁaemz-‘ru@ :
(€) Australia (d) USA. (c) sireeferar (d) | Iy Gﬁtg

45. Who was the author of The Philosophy of the 45. ‘7 fharqw! 3P T a4 B EF P o .
Bomb’? , ¥
(a) Batukeshwar Datta /(b) Bhagat Singh (@) El'g.'}ﬁ‘éa? ET'[ ) i P %*
(c) BhagwatiCharan  (d) Rash Behari Bose (c) wradt @Ror der (d) I fawrd Eﬁ’ﬂ‘:;'

Vohra ' "5

@ Which of the following was the main objective of 46. grr ¥ U TDI I e = 3
the ‘Eka movement’ in Awadh? frferiaa # & ar e

(a) Opposition of the British Rule (a) SISt <t 1 faT e

(b) Protection of the rights of landlords (b) STHITRT & SRIBRT B Y& Py {

, () Non-payment of taxes (c) T ATl »

(d) Conversion of taxes into cash (d) S99 &7 Awg ¥ uRadd $ar ;

47. Which is not a solid state device? 47. I W I g g & 27

(@) LED () R (a) T b) DaRd
(c) FET (d) Tunnel diode (€) THE A, (d) =77 SO
48. Match List-l with List-ll and select the correct 48. JHAi-1®r Qﬁﬁ—ll?}['\jﬁﬁﬁaﬁﬁi‘q T P
answer using the code given below the lists — e fay g @ ¥ TE IR ﬂ'ﬁﬁ - ‘
List-1 (Scheme) -1 (g
(A) SMILE (A) TS
(B) SEHAT (B) &
(C) SVANidhi (C) wafafey
(D) SARTHAQ (D) HTfH
List-1l (Union Ministry) - - (SR )
(1) Defence (1) e
(2) Housing & Urban Affairs (2) 3TAT U9 AT Hrey
(3) Education (3) Rrer
(4) Social Justice & Empowerment (4) AR =a7g U9 guIfoaaor
Code - hC —
(a) A-2,B-4,C-1,D-3  (b) A-4,B-1,C-2, D-3 (@) A-2,B-4,C-1,0-3  (b) A-4,B-1,C-2,03
(c) A-1,B-2,C-3,D4  (d) A-3,B-2,C4, D1 (€) A-1,B-2,C-3,0-4  (d) A-3,B-2, C-4,D-1
[23-B]-134101 PagalINubaz: I“”II“IW’II’""
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g Afr IS (PR,
o e

i R, 2015 & ol
49. With reference o the Sexual Harassment of 49. wfecl : fﬁﬂ'ﬁm} faaxoT — ) W
Women at Work i ﬂﬁﬁg [{d ﬁq H (
Place (Prevention, Prohibition & A d

Redressal) Act, 2015, which of the following ﬁW

tl &
(Particulars ~ Section) is not correctly matched? W ~ 17
(@) Inquiry Report - 1 (@) it ﬁﬂTé e T A
(b) Cognizance of offence by courts - 27 (b) :Jmﬁm e cal g — 30
(c) Power to fémove difficulties 30 (c) Ef’ﬁmé frre - 15
(d) Determinatiop, of compensation - 15 (d) 'Hﬁmﬁ o RHTW BT 3R :ﬂ?}-
50 Match fist - | with jigy land choose the correct 50, - 7 ! & el ST Uy -
answer using the code given below — feg g HE % W
List-1 ﬂ?ﬂ =}
(Orbit) | (e)
(A) Polar Earth Orbjt - (A) g’ﬁﬁﬂ qg‘ﬁ o
(B) Parking Orbit (B) TIfdhaT el
(C) Sun Synchronous Orbit () RisprTa e
(D) Geo Synchronoys Orbit (o) forar R wem
List -1 -0
(Distance above the Equator) (e Yar 9 @)
(1) 700 - 800 km (1) 700 - 800 foh A,
(2) 35,800 km (2) 35,800 fob
(3) 500 - 2000 km (3) 500 - 2000 f5 &
(4) 35,785 km (4) 35,785 fo5 .7y
Code - ' BT —
@) (A)-4, (B)-1,(C)-3, (D)2 @) (A)4, (B)-1, (c)3, (D)-2
(b) (A)-3, (8)-4, (C)-2, (D)1 ®) (a)3, (8).4. (92, (p)4
© (A)-2, (8)-3, ()4, (D)1 © (8)2, (8) 3, (©)4, (D) 4
) (A)3, (B)-4, (01, (D)-2 . D 413, (@), ©)-1, ().
. Jan Samarth Portal is related to which of the . w9 LD
following? 4 Ehéa ﬁ":\'f:(‘-]ﬁgﬁ i by waferd
(a) Credit .Linked Govt. Schemes @) ®fye Fc?ag |
(b) SATAT Scheme ®) W ZﬁT'Pn W %W
(€) PM Jan Arogya Yojana ) wermig Sy
(d) PM vaya Vandana Yojana (d) EUIB e T :;]j? Iﬁ_ﬁ““ﬂ
e P tlor " o

“’""Wﬂﬁﬁ'n‘mwmmlﬂlm




vy @1 I fhaa

S2. Poverty estimation in India is carried out by - 52. e W
) &?
(@) National Statistical Commission , ,
() <rfra Wi AT
(b) National Poverty Commission (b) 1S T8 T
(€) National Planning Commission (c) TL AT AT
&1 BIEA
(d) NITI Aayog's Task Force (d) A ST
/ _ . 3. qerRd W9 8 ARG D HHT §
@ Traditionally ‘Zero Hour” in the Parliament of India 5
i g BT &
begins at -
(a) 9:00 991 WA (b) 11:09;

(a) At9:00 A.M. (b) At11:00A.M.
(c) 12:003'\? e (d) 1000

54, Frefafad § @ DA Aoy

¢) At12:00Noon  Ad) At10:00 A.M.

54. Which of the following is a court of record?

27
(a) Supreme Court
(a) gatea <A
b) High Court ‘
(k) High Cox (b) S=a TR
(c) Both Supreme Court & High_ Court © i Fate =TT T 9
(d) Lower Courts (d) arfiRer <At
5. When did the Dowry Prohibition Act, 1961 came  55. ggwt fser aifarfar, 1961 %4 ¥
i ?
g (@) 1o, 1961 (b) 130
@ls‘Julv, 1961 (b) 1% April, 1961 .
: (c) 11974, 1961 (d) 2330

(¢) 11" March, 1961  (d) 23" April, 1961
56. Originally ‘Bhagwat Geeta'’ is part of which Parva of 56. “yrgg T Held: HEM™MRd & o

Mahabharat? 2?2
(a) Drona Parva (b) Anushasan parva (a) 27 4 (b) 3T
(¢) Shanti Parva (d) Bhishma Parva (©) wrf od (d) A

57. Which Indian Institution has developed ‘Intensive 57. 9107 OIS B s e R

TRE P e @md @ 1

Care Unit’ (ICU) grade ventilator under the name of

‘Project Praana’? fawfa foar Ty 22

(a) Ig.3mms. b) a7
(a).IISC, Bengaluru (b) IIT, Kharagpur 3“5;31@ Tql, (b)
(€) AlMS, Delhi (d) AlIMS, Patna " W’ e .
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58. Who said for the first time about the Indian
National Congress that, “it is representing only 5
microscopic minority class”?

(@) Lord Curzon (b) Lord Dufferin

(c) Lord Minto (d) Lord Irwin

59. with reference to the Puranas, which of the
following statements is/are correct?
(1) Vishnu Purana is considered more reliable for
the history of Mauryans.
(2) Matsya Purana is considered more reliable for

the history of Andhras.

Select the correct answer using the code given

below - )
(b) Only 2
(d) Neither 1 nor 2

(a) Only1
(c) Both1&2
60. Which institution released the report entitled,
‘suffering in silence’ to highlight the plight of Niger
~ during Covid-19 pandemic period?
(a) World Bank
(€) LM.F.

(b) UNICEF
(d) UNHCR

61 After the US Dollar-denominated debt, which of the
following currency-denominated debt is the second
largest component in India’s external debt at the
end of December 2021?
(a) SDR

(¢) Euro

(b) Indian Rupee
(d) Yen
62. Which of the following (Pass — State/Union
Territory) is not correctly matched?
(a) Debsa - Himachal Pradesh
(b) Niti— Uttrakhand
(¢) Chang La - Sikkim
(d) Banihal - Jammu & Kashmir

58.

59.

61.

62.

FIE B T g
a5 mﬁﬂ"ﬁm bl
et Tt B
ﬁﬁﬁﬁw (b) <fS SHRA
(a)ﬁr“’;:j (d)aﬁ'&'?ﬁ'"f
o) @S | & B
(c) qﬂﬁﬁﬁ%ﬁgaﬁ@asﬁwﬁ

P B

At @ gfEr @ fore s
grar el
(Z)Wﬂwﬁmﬁ; el

quGﬂﬁTg|
ﬁmwﬁgﬁﬁﬂawww

PHIfTY —
(a) et 1
(€) THi 19 2

(b) Pad 2
(d 1T &2

. Pife-19 FEEN & THE WHRT g9 Agorw

i & AR B g B RN R
fa W 9 oY @ ofY?

(@) faea & (b) g

() RIS 21 B9 (d) Yo ga e |
4TE. SR & ifv Foor B A1g. RwRER 2001
$WWW$mwﬁ%ﬁm§m

@ T R 1 T T 4T 27

@ WE R T p—

(c)

T @ 3

i “_;'“ﬁm“m (&>t — <o /g iR
Wﬁ:@ 7

(@) <y oy '

®) Ay _ T

[23-B]-134101
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63. sgeaufa oIP aara @ cTtAeT At

Owned by hill: 3
Y billionaire Jeff Bezos? FrrA BT FT AT 87
(a) @I (b) ST

(c) g ATRFTT (d) 27T
Crferfead # 4 FrA—aT (T s

63. Wh
at s ¢
he name of the Aerospace company

(a) g
Pace-X (b) Amazonia

Cc
(c) Blue Origin (d) Dragon

64. :
Which of the following (Research Institute = 64.

Location) is not correctly matched?
(@) Forest Research Institute — Dehradun (a) 9+ W R — <E _I S
(b)gﬁﬁwaﬁﬁﬂﬁﬂw'ﬂ“m

(b) Arid Forest Research Institute — Jodhpur
(c) Himalyan Forest Research Institute — Shimla (c) feeTera ad raET I+ — 3
(d) Institute of Wood Science and Technology — (d) o fa=gm vd  HEfe s
Hyderabad _ ECR4ELE
65. In which of the following literary works, some parts 65. Prefafiad 3 9 fra arfefcas P
are found from the architectural work namely ‘3rgrs fas1 &1 Soer AHS AP
‘Adhai Din Ka Jhonpra’? -4
(a) gediRroT fasTa (b) WIfF 1y

(a) Prithviraj Vijay (b) Kirti Kaumudi

(c) eR®fer ATCH (d) YR *
66. Fr=irfad ¥ 9 BT (ATETE $ 3
ﬁﬁaﬁgfﬁaﬁgwﬁm)ﬂﬁgﬁﬁvr

(c) Harikeli Natak (d) Prithviraj Raso

66. Which of the following (Revolts during Shah Jahan’s
Reign — Leader of the Revolt) is not correctly

matched?

(a) Tibet Revolt - Abdal | (a) oy fagTs — SrsTed

(b) Revolt of Kangra — Jagat Singh (b) TSt BT fAgE — STd g
(c) wreran ¥ et fasie — @edor Rt

(c) Revolt of Bhils in Malwa — Laxman Singh

(d) geora@vs &1 fagie — TFad X
67. ‘fRegiraid e IAfS=TH, 2016
s & fhal gprR @ T

(d) Revolt of Bundelkhand —Champat Rai

67. How many types of disabilities were included in the

Act prior to the ‘Rights of Persons with Disabilities

Act, 20162 7
(a) 10 (b) 7 &) 46 (b1 5
(c) 8 (d) 9 i 8 ol 5
68. Indian robot namely ‘Vyommitra’ was developed 68. ‘ST A sy Aare frad @
by - frar Tar? ;
(a) D.R.D.O. (b) 15RO, (a) SRS (b) 3R (¢
S £ GEOAC, Rume (@ daETER. (d) zif%ﬁ |

‘______,_._-—-—-—"_'_-—-—'—'_'_—'_—'_.—— e



o

69. The Therigatha’ in Buddhist literature is related tq

which of the following bodies?
(a) Samyukta—Nikaya (b) Majjhima ~Nikaya
(c) Khuddaka—Nikaya (d) Anguttars — Nikaya

70. Which is not required in a Communication system?
(1) Transmitter
(2) Receiver
(3) Antenna
(4) Internet

The correct answer is -

(5) 1&2
(©3 (d) 4

(8) 2&3

7. which of the following Articles of Indian
Constitution is related to the ‘Uniform Civil Code’?
(8] Article 42 (b) Article 41

(c) Article 43 (d) Article 44

% According to the Union Budget 2022-23, how much
total expenditure has been estimated?
() ¥34.83 Lakh Crore  (b) ¥ 37.70 Lakh Crore

) 39.45 Lakh Crore (d) ¥ 48.55 Lakh Crore

% Which of the following (Classical Singer - Gharana)
is not correctly matched?
a) Prabha Atre - Kirana
(b) Ustad Rashid Khan — Sahaswan
(¢) Birju Maharaj — Kalka-Bindadin

(d) Pt. Chhannulal Mishra — Patiala

L Height of Geostationary satellite above the earth

surface in equatorial orbit is approximately -

(8) 24,000 km (b) 32,000 km

(¢) 36,000 km (d) 38,000 km

—-——

..\h"‘—h— -
SB1133101

69.

70.

1.

72,

73.

74.

foc | o AT o g g
dle ANES

g 7
fagrra @ €A i
_ @
(@) @ — (171 .
X gl &8¢
o yaRell W T ATATID e

(b) Wﬁ‘r;frf = f-.‘rf,pi

(d) TN~ Rem

(b) 179 2

(c) 3 (d) 4

R Wi @ FEfRed sgwmer § 9
BT T ARG AfedT d T 82
(a) 3T 42 (b) 3rgee 41

(©) a7 43 (d) 3= 44

T GOE 202223 B IR, G () @9
T A B2

(@) 34.832 oG FRIS - (b) 37.70% T RS
(©) 39.45% T FRIs (d) 4855 T TS
Fefifes & ¥ s @Eme e -
ERT) el G ) 27

(@) W 3 — Ry

(b) SIS 19 vgpy — HeqdH

(©) v weRys - BTl RieTé

(d) 1, TS fysy qfaran

el B war g SR yfer IWE @
TR uRRfey ¥ AT SR Bt R -

() 24,000 fi.2y
(€) 36,000 fo5 1§

(b) 32,000 f5#.
(d) 38,000 f5 AT

B[ [T
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75,

. T . .
76. Which of the following industry 1S

77. Primar@eﬁcit is measured by

78. Which oﬁ}e following committee incorporated for

79. Which o@me following is not a Hydo — Power based

Which of the following pairs (Act — Year) is not

75.

correctly matched under the Constitution of India?

(@) Sati (Prevention) Act - 1987

(b) HinduMarriage Act — 1955

N
(¢) Jamifiu & Kashmir Re-organisation Act -

¥

(d) Hin@Succession Act — 1956

sector industry?

(a) Petroleum refining () Insurance

(c) Banking (d) Education
(@]

followi

(a) FiscdlReceipts — Interest payment

(b) Fisc;rDeﬁcit — Interest Payment

(c) Capital Receipts — Interest Payment

(d) RengPe Receipts — Revenue Expenditure
N

not a service

which of the

1918

76.

the first*time private expenditure on health and

educatian-while estimating poverty in India?
(b) Lakdawala

Committee

(a) Rangarajan
Committee
(c) Tendulkar

Cor(uq'ttee

(d) Sen Committee

project‘g%’

(a) Jhaher
F

(c) Singrauli

(b) Koldam

(d) Rammam

80. ‘MODEM’ is used for -

(a) A/D conversion only
(b) D/A conversion only
(c) Both A/D & D/A conversions

(d) None of the above

78.

79.

ey T @ A Freferfa
E}";:T:T-—m ‘g’Tﬂ (ﬁﬁuﬁ - aﬁ) TH?’[ qui.

2?
(a) e vl (fPreer) | — 1987

(b)ﬁﬁa@y@ﬁﬂq—-1955
() o ¢d TR gTeT SR -
(d)ﬁwm_IQSG
ﬁqﬁr@ﬁﬁﬁaﬁﬂ—waﬂﬁﬂﬁmm
2 &7

(@) dgiferere afEer (B) e

(c) afep (d) e
mﬁmﬂmaﬁﬁﬂﬁ{ﬁiﬁﬁﬁﬁm
AT ST 87

(a) TroTpIETg wifkddt — TSl YA
(b) TR =TET — TSl A

(c) ot wftqar — &rst rd

(d) <o wiftadi — o Al
Rreforad ¥ & fba affa grr aRd i
@ oo o Ul dR W@l 1 fi
2N arer Frol e &1 @t e fdar T
(b) FSraTen

(d) ¥ |ffd

(a) ¥R afafa

(c) Tgerey AAfcT

frefoRad § | A STo—fagd
AT & 87

(a) IR (b) Preed
(¢) R (d) 7=
WIS BT YA BT & —

(@) R v/ 9qarma #
(b) R &1/ 7 qgarg #
() ST v/¥ 7 & /¢ qgarmal A
(d) ST § | B 7S

“[23-B]-134101
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81.

@Whi':h of the

a3.

85.

87.

[23-B)-134101

From Which Art

icle of the Indian Constitution, the
Supreme Cour

t has enumerated the Right to

ght to Privacy, Right to Dignity and
ng?

Li\.felihood, Ri
Right to Heari
@) Articje 20

(b) Article 19
©) Article 21

(d) Article 22

following pairs (Intérnational
Place) i not correctly m%éhed?

astructure Investment Bafik'— Manila
(b) u . ™
NESCO - Paris

(©) 1.L.0. - Genevy

Institutions —

(@) Asian nf,

10

(d) International criminal Couﬁ ~The Hague

In which of the following rivers
Island” situated?

(a) Ganga
(€) Brahmaputra

is the ‘Majuli River

(b) Krishna :_Qlj
(d) Godavar'ﬁ-‘}

; o
Which of the following Committee washot related

to the consolidation of Public Sector Ba‘r}.lzs?
(a) Rangarajan Committee
(b) Narasimhan Committee
(¢) Leeladhar Committee
(d) Nayak Committee

33422

Which of the following is correctly matchad?
(a) World Anti-Corruption Day - 01 July
(b) World Population Day - 09 December
(c) Statistics Day - 29 June

(d) Panchayati Raj Day - 04 August

Which of the following is not a cgpnnent .
indicator of measuring Global Hunger Ifidex Score?
(@) Infant mortality rate (b) Under-ncrggshment
(€) Child wasting (d) Child stunting

“AlIPOIP Grant Programme” has been launched by
Australia in partnership with which of the following
countries?

(b) Nicaragua

(d) Bolivia

(a) Jamaica
(c) India

81.

82.

85.

(d) SRR FRME ARATA ~ 7 3
fRerd &7 |

(a) T (b) Fwoq

(©) FEIqA (d) TreTEd

- frefofed & 9 0 9 adeie o
@ BT W gEfyT T8 2

- (a) YR ARy

(b) R wffy

() ieer |ffy

(d) 5 wffy
ﬁﬂﬁr@aﬁﬁaﬁﬁmwﬁgﬁﬁaa?

86.

87.

(“)mmﬁ?‘mﬁaﬂ~mw

(b) f¥d STRiva feawy — g9 feemi
(C)Mﬁﬂﬂ_zgw

@ varh I Reew — o4 g
IR R R
FIfRes & % e et o 78 27

@RI R (b) e

(©) T ey (d) 73 1 9 RTR
IR 101 Pt 4 e 20 3 ¥
W ¥y g e, I
PRIFH 3 farar a2

) sy (b) FrarTan

(©) AR (d) Srehfaar )

Page 17 of 32
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88. ..
Which of the following is not U.P- Government

_v-__'_

Budgetaw Plan priority during 2022-23?
(@) Financial support to set up Borewells, Ponds

and
(b) Fina

Tubewells to small & marginalized farmers
ncial assistance under Kanya sumangala

Scheme
(€) Two free LPG cylinders in a year
(d) Higher study assistance to women
89. Consider the following events and arrange them in

chronological order -

)

(1)
(1)

(V)

The Indecent Representation of Women
(Prohibition) Act

Rights of Persons with Disabilities Act

The Protection of Children from Sexual

Offences Act
The Medical Termination of Pregnancy Act

Select the correct answer using the code given

below -

(@ v, I, &l
€ 1,1, &IV

(b) 1v, 1,11, &1
(d) L1, m& v

90. Which star is/are nearest to our solar system?

(a) Eta-—Carinea

(c) Affa

(b) Proxima — Centauri

ir (d) Alpha - Centauri

91. Consider the following events and arrange them in

chronological order;

(1) Sajjan Singh Case

(Il) Berubari Case

() Golaknath Case

(IV) Kesavananda Bharati Case

Select the correct answer using the code given

below -

(@ 1,11, 1v, 10l

(¢) 11,1, 1

(®) v, 1, 1,1

I, Iv (d) i, 1,1, 1v

92. Which one of the following (Railway Zone -
Headquarters) is not correctly matched?

(@) South Western Railway — Hubli
(b) West Central Railway — Jabalpur
(¢) South Central Railway — Bengaluru

(d) South - East Central Railway - Bilaspur

89.

90.

91.

92,

un)aﬁ’fﬁﬁﬁmmﬁmwmﬁ
(rv)ﬂ#ﬁwwm
4y Ry e e ¥ W SR A -

@ v, 1, mal (b) v, 1, man

© 1,m,19Iv
P /A IRT TR ER AT §
TdE 27 '

(d) 1,1, maw

(a) Ter — PR (b) TfdaaT — 3%
(c) 3MmaR (d) 3re®T —
e Tl W faarR PR @
HE! PBIcihA H AT BIOTC:

() Goo Rig a9

() IR DY

() TAHART BY

(V) BT YR Y

W Ry T de @ yERT e W@
gy —

@ 1,1, 1v, 1 (b) v, 1,1, 11

(©) 11,1, 1, v (@ m, 1,1, 1v
frifeiian % § P—ar (e o — 7o
e gAfora T &7
(a)a’férvrqf%m%a%r—g‘eﬁﬂ

(b) UfRem Heg XY — STaegR

(¢) Zferor #eg Yerd — qTero

(d) Zféror — qd wreg Yerd — fAemagR

| [23-B]-134101
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93. Match list — | with list — Il and select the correct

answer using the code given below the lists -

List -1 List =1l
(Mines) (Minerals)
(A) Khetri (1) Bauxite
(B) Giridih (2) Copper
(C) Sundergarh (3) Coal
(D) Koraput (4) Iron Ore

Code:
(@) (A)-2,(8B)-3,(C)-4,(D)-1
(b) (A)-2,(8)-4,(C)-1,(D)-3
(c) (A) = 1: (B) = 2! {C) s 3: (D) -4
(d) (A) K 4: (B) - 2) (C) K 3; (D] -1
94.) With reference to the reservation of seats for
women in Panchayati Raj Institutions, which of the
following statement(s) is/are correct?
(1) It is provided in the Article 243D (3) of the Indian

Constitution.
(2) The reservation shall cease to have effect on the

expiration of the period specified in Article 334.

Select the correct answer from the code given

below —

(a) Only 1

(c) Both1&2
95. Match list — | with list — Il and select the correct

(b) Only2
(d) Neither 1 Nor 2

answer from the code given below =
List =1l

List—1
(Military Exercise) (Countries involved)
(A) DUSTLIN (1) India — Oman
(B) Eastern Bridge (2) India — Seychelles
(C) Khanjar (3) India — Uzbekistan
(D) LAMITIYE (4) India — Kyrgyzstan
Code -

(a) (A)-4, (B)-3,(C)-1,(D)-2
(b) (A)-1, (B)-2, (C)-3, (D)4

(c) (A)-3, (B)-1, (C)-4, (D)2

(d) (A)-3, (B)-4, (C)-1, (D)2
A

——— e

[23-B)-134101

9B gl —1 B A — 1 F Py "

qfordi @ A T T B b g, iy

IfoTy — L
il T~
(@) (afs)

(A) TSI (1) dfrrze

(8) fiISTE (2) @rar

(C) XT3 (3) BIFT

(D) PRIYGE (8) e arr

hc:

94,

g5.

Page 19 of 32
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(@ (A)-2,(B)-3,(C)-4,(D)-1
(b) (A)-2,(B)-4,(C)-1,(D)-3

(c) (A)-1,(B)-2,(C)-3,(D)-4

(d) (A)-4,(B)-2,(C)-3,(D)-1

Gargdl Ire1 Avensl # AR @ fon s
dret & geedt H, ffolaa 4 3 aF-w/3
BT e & /87

(1) 3BT YIae- QM & e 2438 ()

§ farar mar 2
(2) T SIRET aESE 334 % ke 3k @
g AT B iy W gHrd g

Ry T Fe | wE IR g -
() Bad 1 (b) @l 2
(c) BIHl 19 2 (d) 7 ar 177 & 2

R Bl ?'@—|tﬁ§ﬂﬁﬁaﬁﬁﬂaﬁeﬁﬁf%ﬂ
T T 5| mmﬁ@ﬂﬁﬁmmd

- -l
&= 3rar) (enfiiet 29
(A) S¥for (1) TR~
(B) 3% faw (2) HRA—A
(C) TR (3) HRA—T"

(D) AiIfAfAT (4) ¥IRd—
7

(a) (A)-4, (B)-3, (C)-1, (D)-2
(b) (A)-1, (B)-2,(C)-3, (D)4
(c) (A)-3, (B)-1,(C)-4, (D)-2
(d) (A)-3, (B)-4,(C)-1, (D)2

—



96. fyriferfiaa faseil Tl w ¢
ST BIAFATTAR. AARe -,

* Consider the following foreign travellers and

arrange them in chronological order =

(1) 1-Tsing m T

() Al-Baruni () W_m

(1) Fa-Hien (1) e

(IV) Yuan-Chwang ‘ aE ilaceiier “V,g:[—aw

i:ii: -the correct answer oy f2u e d HEl IR BT Ty
(@ 1v, 11, 1,1 (b) 1L IV, I, 11 (@) 1v, UL IL I ® m iy
(© 11,1, 1v (d) IV, 1L I1L 1 (¢) LILIIL IV @ vy,

@ - 1B -0 Ry
gfeat @ e Re 1w g ¢,

97. Match list - | with list - Il and select the correct 97

answer using the code given below —

List=1 Hel STR &1 II9 DIy —
(A) Part XV of Constitution | e — |
(B) Part XVIl of Constitution (A) ﬂﬁmﬁ T | XV
(C) Part XVIll of Constitution (8) Wﬁﬂﬁ &I AR XV
(D) Part XX of Constitution (C) EfRITT BT HIT XVl
List - 11 (D) Wfdem BT |7 xx
(1) Official Language T -
; (1) TSTHTET
(2) Elections ) fratam
(3) Amendment of Constitution | grecia.r
(4) Emergency Provisions | e
Code - 1

(@) (A)-2,(8)-3,(C)-4,(D)-1
(b) (A)-4,(8)-3,(C)-1,(D)-2
(©) (A)-2,(B)-1,(C)-4,(D)-3
(d) (A)-1,(8)-4,(C)-2,(D)-3

(@) (A)-2,(B)-3,(C)-4,(D)-1

(b) (A)-4,(B)-3,(C)-1, (D)-2

() (A)-2,(B)-1,(C)-4,(D)-3

(@) (A)-1,(B)-4,(c)-2,(D)-3
Frefefen ¥ & e (¢
A~ fawa) e e
(@) HT—i| — TR

(b) Ty — TrorRfy B fadea
(€) v — ifere weiea

(@) - — s aifar

98. Which of the following (Part of Indian Constitution 98.

— Subject) is not correctly matched?

(a) Part-Il - Citizenship

(b) Part-IV - Directive Principles of State Policy
(c) Part-V - Fundamental Duties

(d) Part-Ill - Fundamental Rights

———— e

[23-B]-134101 Page 20 of 32
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99.

100.

101.

102.

103.

What |
atis the name of the digital platform that

Su \ . .
Preme Coury of idia has started to convey its

INterim, stay and bail orders quickly?

(@ MAxIMA
(¢) PEGASUS

(b) MATLAB
(d) FASTER
Atwhich place the Pregnancy cannot be terminated

under the rule of Section-4 of the Medical
Termination of Pregnancy Act 19717

(@) At hospital established by Government
(b) At hospital maintained by Government

€) At the place identified by the committee

formed at district level
(d) None of the above

Which is not true about the ‘Indecent
Representation of Women (Prohibition) Act'?

(8) 1t shall come into force on such date, as the
Central Government may, by its Gazette
Notification, appoint.

(b) It is extended to the whole of India.
(¢) It was passed in 1986.
(d) "All of the above

In such situation, when the Speaker has to vacate

his seat in the State Legislative Assembly, he will

submit his resignation in his own handwriting with

signatures to whom among the following?

(@) Minister of Law & Justice of the State

(b) Deputy Speaker of the State Legislative
Assembly

(c) Chief Minister of the State

(d) Governor of the State

Public Accounts Committee has the following

members: (Give the correct answer) -

(a) (Lok Sabha) - 15, (Rajya Sabha) - 07, (Total) - 22
(b) (Lok Sabha) - 17, (Rajya Sabha) - 10, (Total) - 27
(€) (Lok Sabha) - 11, (Rajya Sabha) - 05, (Total) - 16
(d) (Lok Sabha) - 10, (Rajya Sabha) - 05, (Total) - 15

100.

101.

102. ¢

103.

[23-BJ-134101 Page 21 of 32

e BT R Ay |
gq fafored © T3 f'ﬂ’w

o ad @ ST gy

a7 )
uﬂﬁq o AR ST 1w 5,
3-]_' 3 : i

i 7 T &7 ——

i Sl (d) Prvew

(c) wTadd

Wﬁﬁ%ﬁﬂwmwnﬁ

-4 @ P @ ST R 2o g

AT e fean S el &7

(a) TRHR GRT WM STATA 77

(b)WWqﬁan‘\f

(C)WWWT@HWW%W
W

(@) S 9 P T

Rl F AT IR

affraw & 9N H @91 9 T 22

(@) I& 39 dNIG A 1] 81T, 59 375 Waw
SRR EE DG IEE GRS I
N | |

(b) 78 X WRT 9 W 1 2 |

(¢) a1 1986 # uriRer gar |

(d) SRR Wit

i aRRefey & o9 T Ry & e

F1 3 e Res aed) &), 9z o A

ST B § gRR Wi REiad §

f5 it

(a)?ma%ﬁﬁﬁrqam#ﬁ‘[aﬁ

b)) X7 @) Ry @ qae a1

©) I B wEpih o

(d)ma%?mqm—cm :

ANp — Wﬂﬁﬁmw*ﬁﬂﬁmﬁwg
(W81 SR dfdy) -

@ (& w) . 15, (1< <) - 07, (1) - 22

®) (@15 ) - 17, (g o) - 10, (@) -27

(c) (ﬂﬁiﬁw) -11, (I5y 1) - 05, (ar) - 16

(d) (et &) - -10, Rrey wa7) - 05, () - 15
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qu' T'Ii\

1C( ount

disahulltim 5

(a) Comptroller

(©) Both (a)

105, From which

— —_—

5 of the state fund for persons with

1all be audited by the -

(b) Auditor-General

& (b) (d) None of the above

of the following Harappan Civilization

sites, we find evidences of water conservation?

(a) Mohen;

() Kalibanga

106. what is the

(a) Yogafo

(b) Lothal
(d) Dholavira

o-daro

theme of 8" International Day of Yoga?

r heart

(b) Yoga for harmony & peace

(c) Yogafo

(d) Yoga fo

r health

r humanity

107. PMI Index shows trends in which of the following

sectors?

(1) Service

(2) Manufacturing

(3) Agriculture

(4) Export

Select the correct answer using the code given

below -

(@ 1,2,3and4

(c) 2and 3

(b) 1,2and3 *
(d) 1and 2

108. Match List-l with List-ll and select the correct

answer using the code given below -

List-1 (Yojana) List-1l (Year)
A- Atmanirbhar Bharat 1- 2019
B- PM-WANI 2- Dec. 2020
C- PM-KUSUM 3-2018
D- Ayushman Bharat 4- Nov. 2020
Code -
(a) A-1,8B-2,C3,D0-4 (b) A4,B2C1,D3
(c) A-4,8-3,C2,0-1  (d) A-1,B-4,C3,D-2

[23-BJ-134101

104. ey (fagar) 1 & foy
&1 aiffse faad g fdar o

(a) fra=® (b) =y
(c) g (a)Td (b)  (d) TRy
T8

105. gguyy @al @ [=fcliad 4 3
ool aRe & ey fiel 87
(a) WEA WS (b) Fierer
(c) Preliam (d) ey
106. e aFaR I AN faw @1 3
&7
(a) ggg @ forv amm
(b) wfw[T vd wfsT & forg am
(c) Tarey @ forg I
(d) H=adT & fofg AT
107. fumans. qEdie AT 4 ¢
@1 ygfml a1 g 87
(1) Gt
(2) fafsior
EEIL A
() forafer
4 Ry M Fe A | FE S
i —
(@ 1,2,33MR4
(c) 23R 3

(b) 12 &3
(d) 1892

108. -1 1 - gafera oy a1

U dE W A SR G 9g SN -

R (rere) el
A- STHTHR R 1- 2019
B- digw—arh 2- g
C- HrgA-a; g 3-2018
D- SRS 41 g TR
Fo

(5%

(b) A-4 B-J,C-l.q

(a) A-1,B-2,C-3,04
(d) A1,84 c30

(c) A-4,B-3,C-2,D-1
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u09;' How many years of puni-/inient is there for the first

time offence of provisions {1escribed in Section-23

of Pre~Conception & Pie-Natal  Diagnostic

Techniques Act of 19947
(@) Imprisonment of 3 years
(®) Imprisonment of 6 months
(€) Imprisonment of 5 years
}Ylmprisonment of 1 year
10. Which of the following rulers of the Chola dynasty
assumed the title of ‘Shivpad Shekhar'?

(@) parantaka-1

(c) Rajendra-1

(b) Rajendra -1

(d) Rajraja-1

111. Chandrayaan-2 rover, an electric power generation
system, named ‘Pragyan’, is which of the following?
(a) Six—wheeled robotic vehicle
(b) Four —wheeled robotic vehicle
(c) Ten-wheeled robotic vehicle

(d) Eight —wheeled robotic vehicle

112. Match list - | with list — Il and select the correct

answer from the code given below the lists -

List—1 List -l
(Newspaper) (Language)
(A) Comrade (1) Bengali
(B) Navjivan (2) English
(C) Swadesamitran (3) Gujarati
(D) Sulabh Samachar  (4) Tamil
Code :

(@) A-4,B-3,c-2,D-1
(b) A-2,8-3,c-4,D-1
() A-3,B-2,c-1,D-4
(d) A-1,B-2,C-3,D-4

113. Which Indian documentary film has received an
Oscar nomination in 20227
(a) writing with Fire  (b) Forever Young
(¢) MindingtheGap  (d) The Take

109.

110.

111.

112,

113.

migreor gd AR qHd—Jd | frrer T
i, 1994 @1 ERT—23 A _fﬂﬁ_’ﬂ ST} 7y
qaal AR gedEd BT R freT ot 2 o
() @1 Yraer 27

(a) 3ad @ b

(b) 67IE @ DG

(c) 5ad & B

(d) 139 @ Pe

frefafaa & @ a1d 99 @ fog M
Riqure I@y’ @ UM &R 67 21?

(@) gvrad — god (b) I — f2dm

(¢) o — YeH (d) SRS — gom
W—Zﬁm@mw%%
IaTed yurell v, AfeiRad A | @y 22

(a) &: ufa} qrem AACH aART

(b) =R U aTer A arE

(¢) =1 ulRaf arem AP Ay

e S I S—

R ®T FEA-1  fera PR T g

® M Ry 70 7§ R g -
e I
(SR 93) (se)

(A) BIFRS (1) FTeh

(8) Farsfia (2) firsh

(C) FRARTT (3) Tyl

(D) Yer HHTaR (4) T

33\?,’:

(@ A-4,8-3,c-3,p_;

(b) A-2,B-3,C-4,p-1

(€) A-3,B-2,c-1,p_4

@A=L B2 C<3,py

% ARA TR @Y 200 4 sty T
e g3t 27

(@) T i Bry () BRUTR 207
(c) wigfeT T iy @ 3 25

[23B[134101
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R i
Which of the following is/are example(s) of transfer

Payments?

G Unemployment allowance
2. Payment of salary

3. Social security payment

4. Old age pension :
- Select the correct answer from the code given 'ﬁ

below -

Code - )

(a) 2and4 (b) 1,3and4 ‘i

(c) 1and4 (d) 3and 4

<

)
115. On the bank of which river “the battle of ten kings” %

-

mentioned in Rigveda, took place?
(@) Vipasha (b) Parushni
(c) Sutudri (d) vitasta : )

116. Which of the following foreign travellers has

0384

. mentioned the legend of ‘Anarkali’? ==

114, freferfad o J B /W T

&1 e &/ &

1, RIS A

2. 4 &1 A

3, qriford R e

(a) 2744 (b) 1,344
(c) 1744 (d) 374

(c) Iafe (d) face

. frerfafr 4 for fadeh ardl 43

B TqPAT FT oo T 87

(a) William Hawkins  (b) Sir Thomas Roe (@) Aftrw 2 (b) TR o0 ¢
(¢) Ralph Fitch (d) William Finch (o) e P (d) faferm fin
117. Recommendations of 15 Finance Commission are @? 155 R s @) RieRel Fefak
for which of the following periods? % e @1 @ ford 87
(a) 2020—,21to 2024-25 \—'3 (a) 2020-21¥2024-25 |

(b) 2019 - 20 to 2023 - 24
(c) 2021-22to2025-26
(d) 2022 -23t02026-27

118. Who is child under ‘The Protection of Children from 118.

Sexual Offence Act’?

(a) Before the Age of 15 years
(b) Before the Age of 16 years
(c) Before the Age of 20 years
(d) Before the Age of 18 years

"n " Page240f32
W 01 Page 24 of 3

(b) 2019-20¥ 2023 - 24

(€) 2021-22 9202526

(d) 2022 -23¥2026-27

T SRR % arert o e
I g= B 82

(a) 156&?1%31113#@11 |
(b) 16T Bt My W HA i
(©) 2099 & amg & FW |
(d) 18 9% B Mg | B

A ]
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119. When was the Charitable Endowment Act passed?

120. With reference to the French East India Company,

which of the following statement(s) is/are correct?
(1) French East India Company was founded in

1664.
(2) The first French Factory in India was establlshe(d i
in Pondicherry. <}
Select the correct answer using the code gwenj
below: D
(a) Only 1 (b) Only 2 b

(c) Both18&2 (d) Neither 1 nor2
121. As the height of satellite above earth surface
increases, the time taken to complete the orbit -
(@) Remains same (b) May increase or
decrease

(c) Decreases (d) Increases

N
<t
o™
£
&P
122. “Gizali was the famous writer during whose period?
(a) Balban (b) Akbar

(¢) Alauddin Khalji (d) Jahangir

@ In which of the following year, ‘The Protection §F
Women from Domestic Violence Act’ was passed

(a) 2009 (b) 2007 g”;
(c) 2005 (d) 2003 o

124. Which one amongst the following rivers flows
through a rift valley?
(@) Tapi
(¢) Tungabhadra

(b) Krishna

(d) Mahanadi o\

O
125. Which among the following is author of the bodﬁf

‘Tomb of Sand’ for which he/she was awardqch
International Booker Prize — 2022? L')
(b) Nirmal Verma

(d) Geetanjali Shree

(@) Dhananjay Verma
(¢) Dan Brown

126. |n which year, Indian Rupee was devalued twice
within a month?
(@) 1991
(c) 1990

(b) 1992
(d) 1993

19, grfiof gyl fRfIad Ha TR ﬁﬁmvmgﬂ)

(a) 1880 (b) 1990

(c) 1890 (d) 1980

120. it de 3 @ W A oy 5
Eﬁ‘ﬁ-—ﬁ/ﬁ fﬁmﬁé’(?/??

(1)97@@5‘7%?%“@:&3%“““1664#
& ol
(2) 9Rd H "I wrA et mieA
wrfya @ T3 A
i R T e @ W I P -
(a) Bad 1 (b) BaeT 2
(c) g1 19 2 ) Fdr 198,
121. got 9 g © HWN STIE B HE 34
(@ R @ & (b) 9T FEA g7 0w
T &
(c) TreaT & (d) wgar &
122. el foras a1 & favma eer o
(a) gereT (b) 3rHaR
(¢) 3remseq Raeoft  (d) SERfR
18. mq ffar @ #fRem wvewr afyay
f=ferfad # 9 f&a af wika fdar mar
(a) 2009 (b) 2007
(€) 2005 (d) 2003
124. ffofed Akl & @ oF— 7 39 o
q vared gl 87
(a) Ty (b) T
(c) g (d) FETEY

125. fy=fofed % & ®i h sifp dve’ @ Tl

& Rrel srrista g geow - 202 @
eI fobam ey &7

(@) g=g i (b) fyter quf
(c) 39 sre+ (d) Maioreh &
126. f5w o TR S @1 v @ A A A R
JIYeg T wra op?
(a) 1991 (b) 1992
(e) 1990 (d) 1993

[23-B]-134101
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127. : 2
The Autonomous District Council under the 6"  127. qreftg wfdu @ & ST ¥

Schedule of the Constitution of India is not e uRyg & @dwr IR — Wy
;:::::: ?to Wwhich of the following states of North I W A, T8 B
(@) Assam (b) Tripura R o %Em
(€) Meghalaya (d) Nagaland (c) W () iy
128. Match List - 1 with List - Il and select the correct ~ 128. &t — | &1 A — 0¥ Fiferm -
answer using the code given below: et & A g T % W W g
List -1 List - I - T -
(Shifting Agriculture)  (State) (WJWWW?IH ?ﬁ) (Tfm)
(A) Ponam (1) Odisha (A) G (1) Snfsw
(B) Beera (2) Kerala (8) dRT (2) IRl
(C) Jhum (3) Madhya Pradesh (C) 3 (3) 727 yey
(D) Podu (4) Assam (D) UIg (4) 3rgw
Code: oL
(@ (A)-1,(8)-2,(0)-3, (D) - 4 (@) (A)-1,(8)-2,(C)-3, (D)-4
(b) (A)-3, (B)-4,(C)-1, (D)-2 (b) (A)-3, (B)-4,(C)-1, (D)-2
(©) (A)-2,(8)-3,(C)-4,(D)-1 (¢) (A)-2,(B)-3,(C)-4,(D)-1
(d) (A)-4,(8)-1,(C)-3,(D)-2 (d) (A)-4,(8)-1,(C)-3,(D)-2
129. “Brucellosis” is a disease caused by - 129. “TAAR D AT BT PR 2
(a) Bacteria (b) Virus (a) Gﬁ'ﬁﬂﬂ (b) faroy
(c) Fungus (d) Protozoa (€) Fap (d) Hreraiar
130. Which of the following petroleum producingareais  130. fysfafige H B Geifer
not located in the state of Gujarat? ORI Iy b Rerg T8 87
(@) Kosamba (b) Moran (a) Py (b) BT
() Navagam | (d) Kalol (©) T ) T

is not correctly matched?

el guferg 7 27
(@) ICICI Bank — Mumbai (@) H@‘?ﬁaﬁiﬁaﬁ S5 — T‘T&F
(b) Indian Bank - Chennai (b) 2R ¥op — A
(c) Canara Bank - Bengalury (©) B $5 _ w
(d) Corporation Bank — Mangalore

(d) ®rORyE §F — HreR

[23-B]-134101 B ™ T T i — it




a) Russia
@ (b) Australia

(c) Japan d) usp,

133. India’s first " indigenoyg)y developed Remote

Sensing Satellite was launched through -
(a) Cape Kennedy (b) Baikonur

(¢) Sriharikota (d) French Guiana

134. Which of the following (State - Number of
Members in Lok Sabha) is not correctly matched?
(@) Himachal Pradesh -4 (b) Gujarat - 26

(¢) Haryana-10 (d) Jharkhand - 16

135. The term ‘Hindustan’ was used for the first time in
the inscriptions of which dynasty?
(a) Mauryan (b) Mughal

(c) Sassanian (d) Kushan

136. Which of the following Articles of the Indian

Constitution provides provision for a Public Services -

Commission for the Union and a Public Service

Commission for each state?

() Article 312 (b) Article 318

(c) Article 320 (d) Article 315

7. 1n which city of United Provinces (presently Uttar

Pradesh) a meeting of the revolutionaries from all

i ?
parts of India was called in 19242

b) Kanpur
(a) Bareilly (b)

(d) Meerut

(€) Lucknow

IBI134101

132.-ﬁqﬁ.1f@aﬁﬁﬁméﬂﬁwmq@mé

#WMW”WW.WH;W}

(a) W (b) sffegforay
(¢) ST (d) HIFT 57
133. e o1 qEe WA H IR R
IugE fbad A F vafa B mp
(@) 37 B (b) arzEMR
() sieReprer () %9 TaF
134. foyeiferiad & 9§ B (9 - Ay &
Wew §&) Wel gAfora a1 &7
(@) femrae wewr —4  (b) TR -2
(¢) &Ramm — 10 (d) IRETE — 16
135. Sdver g w1 &1 S fwt v
% Fferal # gan £?
(a) (b) e
(©) T (d)

136. arcfly Wfe @ FwfaRe s 4
P TS WY ol Jar JE a1 I

W4 B fo0 A S s 2q waE
¥
(a) 3BT 312 (b) SFEET 318
(c) IWT 320 (d) s 315

137. 1924 % WYH Wid (adtwe gax W) @ (09
&R 3 Wl AR W ifdRa @ 46w T
g off?
(a) Tl (b) T
(c) TTET (d) 773

CE— [




138,

139,

140.

[23-B]-134101

Which of the following viruses was assessed to be

"eSponsible for highly infectious disease of small

pox?

(@) Adenovirys (b) Aichi virus

(©) Variola virys (d) Coxsackie virus

Given below are two statements, one is labelled as

Assertion (A) and other as Reason(R) -

Assertion (A) : Bhagat Singh, completely and
consciously, was a secular
thinker.

Reason (R) : He used to say that, “Communalism is
also as big enemy as the British
colonialism and we have to face jt.”

Select the correct answer using the code given

below:
(a) Both (R) and (A) are true and but (R) is not
correct explanation of (A)

(b) (A)is false but (R) is true

(¢) Both (R) and (A) are true and (R) is correct
explanation of (A)

(d) (A)is true but (R) is false

Match list -

answer using the code given below the lists —

List-I List- 11
(Harappan site) (Crop)
(A) Chanhudaro (1) Sesame

(B) Harappa (2) Kodo
(C) Kuntasi (3) Rice

(D) Hulas (4) Mustard
Code -

(@ A-1,B-2,C-3,D-4
(b) A~2,B-4,C-1,p-3
(€) A-4,B-1,C-2,p-3
(d) A-3,B-2,C-4,p-1

[ with list - 11 and select the correct

Page280f32

138. fop=ferfdad i PH - 6l %‘Tﬂ_rl |
deprid T e o fo Rmer e

ofr?

(a) 7oy farar] (Q%Fﬁ(b) < Fﬂ”’l’lmj
GIDEES)! )

(c) i fawrTy  (d) BiFwRI §

139, 41 Q) %o & R 9 TP B oy

3R TR BN PRI (R) PET T 2 ~

IfweE (A): 9T R T TWE ek
4 gH-fRve e 9

HROT (R): J 39 AT & FET ey
“ArRTREAT o ST & ¢
¢ R & ssh iy
IR 3T T § qFTa
g |

e e o ¥ 9 s @

zﬁﬁm_

(@) (R) 3R (A) T W & freg (), () 7

- T T e @

®) (a) et &, fbg (R) W

(©) (R) 3R () T W & sk (n), (A) @

ARAT Bl &

(d) (A) e, feg (R) Tore 2

M0 1B 1% g Aoy ok
SRERCIE IR gy -
-1 -1
T Trere) ()
(A) TR (1) et
(B) FSwy (2) FreY
~ (C) st (3) g
(D) geiry (4) Wt
Elz\_d e

(a) A-1,B-2,C-3,p-g
(b)A—z,s—a,c-1,D_3
(€) A~4,8-1,c-2,p_3
(d) A-3,B-2,c-4,p-

e

[ [T TTIT T



141. Which of the following is not a fundamental duty?
(a) To develop scientific temper, humanism and

spirit of inquiry and reform.

(b) To protect and improve the natural

environment.
() To strive towards abolition of untouchability.
(d) To cherish and follow the noble ideas which
struggle  for

inspired  our  national

independence.
142. Which is not true with 5G technology of mobile

communication?
(1) Data downloading is faster,

(2) Driver less cars are possible.
(3) Domestic appliances can be controlled with

141, Pyefarad ¥ 9 B vy, i
&7 ",
(o) A DI, AT g
i G T oy
(b)WWﬁW@ml
(c) ST Wﬂ?%wmm
(d)eﬂﬁaﬁﬂﬁﬁm#mm
mmmmﬁmmm
& farg vt et B URT
142. wyqrger AR @1 591 GRS B a1 4
e T 87
(1) STeT STSeS BT T &I 2|

(2) T ¥R PR T & |
(3) ERe SUBN BN AR B ¥ faf

mobile phone. febam ST Gl gl
(4) The existing cell phone can be used. (4) ﬂ‘m\"ﬂ I BT BT IYIIT & 9 2|
The correct answer is - Hel SR & —
(a) 4 (b) 1and3 (@ 4 (b) 13iR3
(c) 1,2and3 (d) 2and3 (c) 1,23k 3 (d) 230 3
143. Which of the following rivers is not included in ~ 143. Arefarfag afeal & ¥ o4 @ ‘797 ]
‘Panchnad’? aftafera 781 27
(a) Jhelum (b) Indus (a) oM (b) R
(c) Sutlej (d) Beas (c) Wil ) =1
144. Which is not an advantage of optical  144. YPTHIA HAR BT AT A Tel &7
communication? (@) R Jvg ) f !
(a) Higher Bandwidth (b) '
(b) Higher Speed e
(c) No electric noise (c) Pr¢ fga vk =1
(d) No magnetic noise (@) B gEPY IR TE
145. Which of the following is/are correct goals to - 145. 2022-23% WHIg qu7e & faro BT # 4Rd
India’s aspirations in ‘Amrit kaal’ for the Union @ P B fore frfafiaa o A il
_ Budget of 2022-23? ey WEr 87
't' |- Focus on growth and all-inclusive welfare I- @ v et ooy g7 AN
II- Promoting technology-enabled development I- wrenfre e fierg @) garar a7
: (@) Only| (b) Onlyll (@) dad | (b) Eﬁﬂﬂ "
¥ R
t (¢) Both1 &N (d) Neither | nor Ii (©) 2= 1 g Il @ 7 ar aE
i
L - —
L [



1Wd$ﬁmﬁmﬂmﬁ?ﬁomg;

146. How
many states of India are situated along the 146.
Coastline?
(a) 10 (b) 9
@) 10 (b) 9
(c) 12 (d) 11
() 12 d) 11
147. From 1 April, 2022 what surcharge has been levied ~ 147- 1 et 2022 W TAE TP B aRwmf,
on Long-Term capital gain on all types of assets? refeTe Tﬁﬁ L k.
i g T 27
(@) 10 Percent (b) 15 Percent
(a) 10 ufaer (b) 15 gferera
(c) 7.5 Percent (d) 12.5 Percent (©) 7.5 wfT (d) 12.5 ufvm
148. Which of the following lakes is shared by two States 148. fy=ifarfiad § | DI AT IR B T
of India? ZRT |1 B A 87
(a) Chilka (b) Lonar (a) faedt (b) SR
(c) Pulicat (d) Sambhar (c) gferde (d) TR
149. |n which year, ‘The Protection of Children from 149. Sfrep TR A T GREvT IR
sexual Offences Act’ was passed? giRa fear Tar?
(a) 2010 (b) 2013 (a) 2010 (b) 2013
(c) 2012 (d) 2011 (c) 2012 (d) 2011
150. |dentify the satellite(s) ~which was/were 150. 9§ SYUE /SYUE B TEAH N Gl ¥
unsuccessful in launching - 3%l <&l B /Bl —
(1) INRSS — 1A (1) 3E.TA.3MR.GHE.0H. — 17
(2) INRSS - 1B (2) A AR GETE, — 19
3) INRSS - 1G
(3) (3) TE. TAARTH.CH. — 1971
(4) INRSS — 1H :
" (4) IE.UA.IRTAH. — 1Ud
The correct answer is - - s
Hrix'e —
(@ 1,2&3 (b) 1
a
(©) 182 @ 4 (@ 1,293 (b) 1
(¢) 192 (d) 4
. Page 30 of 32 - - TNII_MIIIITI_ H"”w
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